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Question No. 1 Use

A car in Iinear motl h itial = . Num

F notion has Initial speed =20 mvs_ If it travels ror 20 seconds with acceleration = 2 m/s/s, the total distance it covers is e

]

249

400 m
100 m
200 m




Question No. 2

A car in linear motion with acceleration = 2 m/s/s and initial

- 250 m
100 m
500 m
125 m

speed = 20 m/s reaches a final speed = 30 m/s after going

*
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a distance or
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Question No. 1

i A train travels a distance ofr 600 kilometers in 4 hours. Its average speed IS

& 200 km/h
250 km/h
150 km/h
100 km/h




Question No. 3

AS an object is freely ralling, its downward speed IS

constant
Zero
decreasing

Increasing
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. Question No. 2

A —
car in inear motion with acceleration = 2 m/s/s and initial sSpeed = 20 m/s reaches a Nnal speed = 30 nmv/s aner going a distance of

& 500 m
o 260m
& 100 m

126 m
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| IT a stone In free rall has initial speed = 20 m/s, s speed after 3 seconds s (use g = 10 nvs/s)

o 60 mi/s
' 50 m/s
~ 30 m/s
. 40 mv/s
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The mass of a 1-N apple is (use g = 10 m/s/s)’

2 0.1 kg
1 kg
TN
O1N
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Question No. 7

!
)
ITa man pushes a 100-kg box with a 100-N force on a level floor and the box does not move, the force of friction between the box and the Noor Is
ON
200 N
50 N

100 N
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An object that has big inertia must have:

- big mass
- small mass

big area
Dig volume
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Question No. 5

What is the unit of the coefficient of friction?

¢ has no units
) meter

() joule

newton




. Queston No_ 8
an obgect Inat Nas Dig
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Question No. 2

A car in linear motion with acceleration = 2 m/s/s and initial

250 m
100 m
500 m

125 m

speed = 20 m/s reaches a final speed
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= 30 m/s aner going a distance of
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Question No. 2

A car in linear motion with ac eleration > M/S/s and initial speed = 20 nv/s reaches a final speed = 30 m/s after going a distance of

250 m
H’}Q m
508 m

125 m

Us
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Question No. 3

AS an object is freely falling. its downward speed is

constant
increasing
Zero

decreasing
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Question No. 10

A REt force or 6000 N causes a car to accelerate at 4 m/s/s. The mass of the car |s

24000 kg
15000 kg
000 kKQ

1500 KQ
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Question No. 4

The acceleration of a freel falling object is

the acceleration due to gravity

greater than the acceleration due {0 gravity (g)

2ero

less than the acceleration due to gravity




Question No. 3

AS an object is freely falling. its downward speed is:

constant
increasing
Zero

decreasing
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Question No. 8

An object that has Dig inertia must have

small mass
big area
big mass

DIg volume
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Question No. 7

An object has a weight (Mg = 10 N) It moved by the effect of a single force of 20 N. The acceleration of the object is

10 m/s/s
2 mi/si/s
5 m/s/s

20 m/s/s
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Question No. &

What is the unit of the ¢ oefficient of friction?

Nas no units
‘]e\-.-'t(_) '-‘
meter

joule
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Question No. 5

he friction force always acts in a direction

normal to the surface
Opposite to the direction of motion
same as the direction of weight

same as the direction of motion
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Question No. 9

If no external forces act on a moving object, it will have

Zero velocity
increasing velocity

increasing acceleration

Zero acceleration
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: fQuestion No. 20
L |

L In the Celslus temperature scale. the absolute zero iIs at

l 0 OC
-459 °C
273 °C

273 °C
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Question No. 11

If there is a net force acting on a moving object, the object must b€

large
accelerating

small

moving with constant velocity
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Question No. 12

The law of action and reaction is !

Third law
-irst law
inerta 1aw

Second law
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Question No. 13

A painter weighting 630 N climbs to a height of

S m on a ladder. What is the increase in gravitational potential energy of the painter?

315 kJ
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Question No. 14

With no ai resistance and no n iction

SWiNng Just once
SwWing only 10 times

SwWing forever

sWing 1or short iime

d SwWinging pendulum

voulid




MKCL OES

i ] e Sy hm—

Question No. 156

[he acceleration due to gravity of the Earth 1s 6 iumes that of the Moon_ If the potential encrgy

of the same object placed at the same height on the Moon 1s E.u and on the Earth 1s Eqe, they

are then related as

l'.” (1] ())l‘.!m,;

l'v; hlv‘

pM

l':: ”(’I'x"uﬂ

l;: l!‘!
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Question No. 16

OUle/seq na Is a unit

~OWe)
.A."IF
fen Perature

Hnerqgy
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Question No. 17

A personpulls abox along level ground a distance of 45 m by exerting
force of 200 N at an angle of 30"

a4 constant
"' with the ground. How much work does he do?




Question No. 18

YOou raised a 10-kg object to a height of 3 m, and your friend raised the same object to a height of 1 m. The work done by vour friend is

hailf vour work
same as vour work
one third vour work

four times vour work
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Question No. 19
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Question No. 20

A temperature of 50 “(
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Question No. 21

A temperature of 30 ¢

equals
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Question No. 22

n the “elvin en

perature
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Question No. 23

n the inrennent temnone yLIre

-~

160 2}
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Question No. 24

rieat Is
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Question No. 25

".‘I/'i"'l we '“'(” ] ?.’I(“ " (;‘ non

the Kinetic ener 1y

’

Ded Qmes zero
mncreases
converis to potential enerqgy

164 freases
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Question No. 22
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Question No. 25

How many mega-joules of heat must be given off by 5.0 kg of water (specific heat = 4190 Jkg °C ) to
cool from 75 to 10 °C?

4 53 MJ
1.36 MJ
3 40 MU
7.23 MJ
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Question No. 2
Assume that you were on
you were driving with a constant speed of €xaclly 120 km/h for 5 minutes During this time your instantaneous e

o 120 m/s
@ 100 km/h
& 120 km/h
o 60 km/h

S~




Question No. 2

= " P 5 O .u. - - -~ -3 b - . - - . .
ASSume that you were driving with a constant speed of exactly 120 km/h for 5 minutes. During this time your Instantaneous speed is

120 km/h
120 m/s
60 km/h

100 km/h
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Question No. 23

Which of the following lemperatures is NOT PoOssibie?

274 °F
-200 °C
4500 °C

-278 °C
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.I Question No. 22

A lemperature of 300 K equals:

@ 37°C

@ 512eC

& 573 °C
27 *°C
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Question No. 21

Temperature is measured with a

O thermometer
o) micrometer
.} protractor

) ruler
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Question No. 20

inthe Celsius femperature scale, the absolute Zero is at

© 273C

@ 273C
459 oC
0°C

O
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Question No. 19 b

A freight elevator with operator weighs 4000 N IT It Is raised to a height of 20 m In 10 s, how much power is developed?

) 80 kW
o 8 kW
o 20W
o 200w
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Question No. 21

A temperature of 30 °(

equals

303 °F
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Question No. 24

Heat 1s a fOorm of
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Question No. 23

ninhe ”.ll‘[;['-" 1 IMMDe LIre

160 °F
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Question No. 22

in the Kelvin 1 mperature
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Question No. 20

A temperature of 30 “(
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Question No. 19




Question No. 18

YOu raised a 10-kg object to a height of 3 m. and vour

friend raised the same object to a height of 1 m. The work done by your friend is

half vour work
sSame as vour work
one third vour work

four times vour work
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Question No. 17

A personpulls abox along level ground a distance of 45 m by exerting
force of 200 N at an angle of 30"

a constant
) '
with the ground. How much work does he do?
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Question No. 16

OLE /s 6y mndg is ! Unit

. "';)q‘!_iY;‘,.

nerqgy
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Question No. 15

['he acceleration due to gravity of the Earth 1s 6 umes that of the Moon_ If the potential energy

of the same object placed at the same height on the Moon 1s E.or and on the Earth 1s Eqe, they

are then related as

ol O6E v

i 0.6k

l": l'-:‘!
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Question No. 14

With no air resistance and no friction_ a -Winging pendulum would

\;|I"I']§(’ jlj‘;t once
swing only 10 times

SWiNng orever

swing 1or short time
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Question No. 13

A painter weighting 630 N climbs 10 a height of

9 m on a ladder. What is the increase in gravitational potential energy of the painter?
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Question No. 2

ASSume that you were driving with a constant speed of exactly 120 km/h for 5 minutes. During this time your instantaneous speed IS

' 60 km/h

~ 100 knmvh
120 kmv/h
120 mv/s
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Question No. 3

ARer a falling object reaches terminal speed. Its speed Is

Increasing

Zero
constant

decreasing




(D

MKCL OES Physics_Quiz2_Sem2_ 2017

Question No. 5

The friction force always acts in a direction

same as the direction of motion
Opposite o the direction of motion
Same as the direction of weight

normal to the surface
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Question No. 7

An object has a weight (mg = 10 N). It moved Dy the effect of a single force of 20 N. The acceleration of the object is:

10 m/s/s
2 m/si/s
5 m/si/s

20 m/s/s
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Question No. 21

Temperature is measured with a.

2 thermometer
C mMicrometer
- protractor

ruler
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Question No. 20

in the Ceisius temperature scale. the absolute zero is at.

233°°C
-273 °C
4359 °oC

0eC







]

O
-\-_
1% 'y

",",’).‘
v ol

! X2
) .) "' .|"- A g

ol }

O

=
.
: -
-
ol
[
>
-
e
-
)




Question No. 11

acting on a moving object, the object must be

It there IS a netl rorce ¢
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Question No. 6

The weight or a 75-kg man on the Moonis (useg =16 m/s/s)

120N
/760 N
100 N
/6N
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Question No. 23

In the Fahrenheit temperature scale, the absolute zero (0 K) is approximately at



















Question No. 16

The unit of WOrK Is:

¢ Watl
» kilogram
Newton

Joule

———————




.
. Question No. 17
we can say that there Is

iITyou pusheda a wall and It did not move

work done on youl muscles
no force acted on the wall

work done on the wall

no force acted on your must les
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Question No. 21

ture scale, the absolute zero Is at

' In the Kelvin tempera

@ 273K
459 K

0K
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Question No. 9

IT Nno external forces act on a moving object. it will have:

2 Zero velocity
2 Increasing velocity

Increasing acceleration
Zero acceleration

L )







Question No. 11

AcCcording to Newton's second law (F=ma), if F is kept constant, then:

o m is direcily proportional to the acceleration a
m is inversely proportional to the acceleration a
F=a/m

d=m
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Question No. 10

Aforceof 1 Nis the same as.

1 Kg s/m
1 kg m/s
tkgms
1 Kg m/s/s






- Question No. 11

' According to Newton's second law (F=ma). if F Is kept constant, then:

) m is directly proportional to the acceleration a
) m is inversely proportional to the acceleration a
o F =a/m

o a=m
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Question No. 12

The law of action and reaction is Newton's:

. Second law
First law
Inertia law
Third law
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Queston No. 22

In the 2iNvan ‘emperature scaie. ihe absolute Zero is at
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Question No. 17

If you pushed a wall and It did not move, we can say that there Is!

work done on the wall
no force acted on your muscles
no force acted on the wall

work done on your musciles
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Question No. 2

A car In linear motion with acceleration = 2 m/s/s and Initial speed = 20 m/s reaches a final speed = 30 m/s afner going a distance o!

& 500 m
& 250 m
- 100 m

126 m



Question No. 5

‘(’:‘ W\ f"l(}",’ l_)‘

a4 75-Kg man on the Moon is (use g =16 m/s/s)










Question No. 13

The gravitational potential energy of an object relative to its height from the ground Is as rollows:

' The potential energy depends on the square of the height
The higher the object the smaller the potential energy
The potential energy does not depend on the height

The higher the object the larger the potential energy




Question No. 10

A force of 1 N is the same as:

= 1 kg s/im
1 kg m/s
Tkgms
1 kg m/s/s




Question No. 14

The Kinelic energy of a 10,000-kg piie driver when it strikes a pile with velocity 10.0 m/s is:

500 kJ
200 J
o0 kJ
o0 J
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luestion No. 7

i :

a man pushes a 100-kg box with a 100-N force on a level Noor and the box does not move, the force of riction between the box and the noor Is

» ON
» 200 N
+ 50 N
» 100 N






Question No. 9

“A moving object likes to Keep its state of motion” Is the meaning of

velocity
force
inertia

acceleration







O 7 misis
& S m/sis
o 1 m/s/s
o 3 m/s/s



Question No. 9

“A moving object likes to Keep its state of motion” Is the meaning of

velocity
force
inertia

acceleration




...............................................................................................................................................................................................................

| Question No. 15

|

A 50-g bullet Is fired from a gun with 4-kJ Kinetic energy. Its veloc ity 15!

500 m/s
300 m/s
400 m/s
200 m/s




| Question Mo 4

| A famng ooject 1s In ree 13l ¥ we .3 negec!



Question No. &

what is the unit of the coefricient of friction?

¢ has no units
O meter
» joule

newton
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Question No. 10

Aforceof 1 Nis the same as.

1 Kg s/m
1 kg m/s
tkgms
1 Kg m/s/s
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A 50-g bullet is fired ram

w0 400 mis
v 200 mi/s
J00 m/s
500 m/s
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Question No. 14

With no air resistance and no friction. a swinging pendulum would

swing just once

swing only 10 times

swing forever

swing for short time
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Question No. 15

A 50-g buliet is fired from a gun with 4-kJ kinetic energy. Its velocity is

500 my/s
300 mv/s
400 m/s

200 mv/s



Question No. 12

If a bullet is fired from a handgun with a force F 1, the handgun recoils (=_-) with a foi

=1 and F2 are equal and perpendicular

=1 and F2 are equal and in the same direction
=1 and F2 are equal and opposite
F1 and F2

Z are not equal



Question No. 18

WOrk is done on an object if the object is affected by

large force without displacement

medium force without displacement

force and displacement

Small force without displacement
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Question No. 18

A WOrker pushes a cart canrying a 450-N box a distance of 20 m by exerting a constant force of 40 N In the direction of motion. The work done by

the worker Is

& 800 J

80 J




- Question No. 23

A temperature of 50 °F equals

@ 323 K
223 K
10 K
283 K
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Question No. 14

With no air resistance and no friction, a swinging pendulum would

swing just once
swing only 10 times
swing forever

swing for short ime
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force and displacement
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Question No. 19

How long woulid it take a 1500-W motor to raise a 100-kg mass to a height of 15 m?

30 s
10 s
40 s

-~ ™

ZU S
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Question No. 18

A WOrker pushes a cart canrying a 450-N box a distance of 20 m by exerting a constant force of 40 N In the direction of motion. The work done by

the worker Is

& 800 J

80 J
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Question No. 1
‘h to 120 km/h_ Its average speed is

An object travels in straight line and increases its Speed uniformly from 80 kmy

250 km/h
200 km/h
100 km/h
150 km/h
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l‘ Question No. 1
l. An object travels in straight line and decreases its speed uniformly from 40 m/s to a full stop within 10 seconds. Its deceleration Is:

W -3 m/s/s
@ -2 mis/s
W - 4 m/s/s

W -1 m/s/s
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Question No. 2
20 myY/s reaches a final speed = 30 m/s after going a distance of

A car in linear motion with acceleration = 2 m/s/s and initial speed =

500 m
250 m

100mMm

N
)
3
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Question No. 2

An object is moving in straight line and decreases its Speed uniformly from 40 my/s

to 10 mv/s within 10 S€conds. Its deceleration s

-3 m/s/s
-2 m/s/s
-0.5 m/s/s

-1 mJ/s/s



Question No. 19
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Question No. 19 b

A freight elevator with operator weighs 4000 N IT It Is raised to a height of 20 m In 10 s, how much power is developed?

) 80 kW
o 8 kW
o 20W
o 200w
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Question No. 2

An object is moving in straight line and decreases its Speed uniformly from 40 m

/S to 10 m/s within 10 seconds _ Its deceleration is

-3 m/s/s
-2 m/s/s
0.5 m/s/s

-1 m/s/s



Question No. 3

AS an object is freely ralling, its downward speed IS

constant
Zero
decreasing

Increasing



:

Question No. 2
Assume that you were on
you were driving with a constant speed of €xaclly 120 km/h for 5 minutes During this time your instantaneous e

o 120 m/s
@ 100 km/h
& 120 km/h
o 60 km/h

S~




Question No. 6

A man has a ma

) M =125 Kg
'y M > 75 Kg
M =75 Kkg

M < 75 Kg

g of 75 kg on Farth. H

s mass on the Moon IS
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Question No. 3

After a falling object reaches terminal speed. its acceleration is

unknown
negative
Zero

positive



Question No. 3

!
An object is thrown vertically upward. Its speed at the maximum heignt s

@ > zero
' Zero
maximum

< Zero



Question No. 4

An object is thrown vertically upward. As it is going upward the speed is.

Zero
constant
INncreasing

decreasing



Question No. 2

A car in linear motion with ace eleration

250 m
“}Q m
' ,U(‘fm

125 m

Physics_QuizZ_SemZ_ZO 17

< M/s/s and initial speed = 20 m/s reaches a final speed = 30 m/s after going a distance of

s

N




Question No. 2

AN ODJeCt IS moving In straight line and decreases its speed uniformly from 40 m/s to 10 m/s within 10 seconds. Its deceleration s

3 M/S/S

1 m/s/s

#
!
==
v
7 7]
(/)
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Question No. 3

AS an object is freely falling, its downward speed is

constant
increasing
Zero

decreasing



Question No. 3

I he acceleration of a freely ralling object 1s

the acceleration due to gravity
Zero
less than the acceleration due to gravity

greater than the acceleration due to gravity (g)




